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No. | ETN % |(K)| KF (BT&) == WE | RE| B |[EE (M) [F=0k=x
1| A KT L ZA<BT E NN 1615 1 H 2,117 X
AV ] = R PfT FE I 1699 7 Jal 1,400 O
(AR KT = R AHT FE 1699 | 11 4 2,803 O
A\ A KT = R PfT FE2 1 1702 5 Jl 3,141 O
Sl ARk = R AHT FE 1704 | 14 4 6,957 O
6| ABB KT ==k —/ #El 1565 2 Jl 1,226 O
T|ABXkH = R HT —/ #El 1569 1 4 3,288 O
8| A X ==k —/ #El 1569 2 Jl 38 O
9[AR kT = R AHT — / #El 1541 1 4 2,499 O
10| ABBXKH SRR —/ #El 1541 2 yil 3,984 O
11| A BBk = R AHT —/ #El 1550 2 g 1,079 O
12| AKX SRR —/ #El 1552 2 yil 1,830 O
13| A BBk = R AHET — /#El 1552 1 g 5,830 O
14| A XT SRR —/ #El 1552 3 yil 1,625 O
15| A BBk = R AHT FE 1714 | 11 g 1,257 O
16| A BB XK = R fT FE2 1 1714 | 12 jil 281 O
17| A BBk = R AHT FE 1714 | 16 g 2,454 O
18| A BB K = R fT FE2 1 1699 | 14 A 52 O
19| A BBk = R AHT FE 1702 1 g 5,639 O
20| Ak = R fT FE2 1 1705 8 yil 6,542 O
21| ABBKTH = R T FE2 1 1704 | 17 jil 3,626 O
22| ABBKTh = R fT FE2 1 1705 9 yil 2,578 O
23| ABBKH AT P (< 2436 1 g 168 X
24| ABBKTH 1Ly A BT B akTFv 512 1 H 989 X
25| ABB K Ly A< BT B akTF 512 2 H 1,027 X
26| Ak NN =R akFv 512 3 H 1,133 X
27| AB ¥ B EP M B oy 181 1 H 1,283 X
28| Ak L2 N BT 937 1 H 866 X
29| ABB KT EHETEAR BT 942 H 1,354 X
30| Ak PRI R AE EE 253 1 H 380 X
31| ARk EEPHT R AE EEH 254 1 H 246 X
32| Ak BRI RE S\ HE 18 1 H 573 X
33| AKX B PFATR{E I\ 19 1 H 821 x
34| Ak SRR FIAOE 2231 | 442 jil 2,550 O
35| AKX = R AHET FIADE 2231 | 443 g 1,140 O
36| AKX A% L) T L 1407 2 yal 850 O
37| Ak k1L BT SE L 1407 3 g 851 O
38| AKX A% L) T L 1407 4 yl 851 O
39| A KT 1L BT SE L 1407 5 g 852 O
40| Ak A% L) T S 1408 7 yil 3,146 O




AT\ AREXK AEFHEZA |EHYP 255 il 112 X
A2\ ABKTH AEFHEZAR |EYP 256 1 H 330 X
A3 A KT =R NHT FEI 1714 | 29 il 613 O
A4\ AB KT =R FE2 1 1714 | 31 il 1,384 O
A5| Ak ST N g} 304 1 A 1,086 X
46| ABBKTH = RAHT FIAOES 2231 | 446 i 927 O
AT|ABB KT =R NHT FIAOE 2231 | 447 il 544 O
48| AR KT == FIAPE 2231 | 455 il 1,529 O
49| ABB KT =R NHT FIAOE 2231 | 84 il 2,254 O
50| AKX == FIAPE 2231 | 88 il 1,080 O
1| ABE KT FARETEE i 761 1 22 706 X
b2| ABEKT FARETE O i 761 2 H 64 X
3| ABE KT T ARETE i 762 A 1,248 X
4| ABEKT B L BT ¥8)1| 5 11 pi| 827 O
5| A XK L T AL 1405 7 il 3,487 O
56| AKX == FIAPE 2231 | 139 il 1,314 O
7| ABXTH EEFMTAR |h/L 515 1 22 2,269 O
8| A KT =EEMRE | +/T 131 1 H 1,106 X
9| AR XK T ARBTS =/ Hi 315 A 1,234 X
60| A KT == FIAPE 2231 | 253 il 1,803 O
61| ABXKT == FIAPE 2231 | 441 il 1,102 O
62| AKX == DA 2231 | 444 il 1,026 O
63| AKX =R NHT FIAOE 2231 | 465 il 1,085 O
64| AR KT AEFHZAR |XIR 609 2] 522 X
65| ABE KT FARETEE EER 216 1 22 406 X
66| ABXKTH == FIAPE 2231 | 466 il 252 O
67| AKX =R NHT FIAOE 2231 | 468 il 864 O
68| AR KT Ly A BT B SEHT 249 2 H 1,168 X
69| AKX 5 R NHT FIAOE 2231 | 251 il 1,071 O
TO| A XK 1Ly A BT B SEHT 249 1 H 871 X
T1|AB X AEAETAE |[FK 1219 | 25 il 662 O
T2\ Ak HAEAETARE |[FK 1219 | 31 il 1,885 O
73| AKX AEAETAE |[FK 1219 | 33 il 1,714 O
T4\ Ak HEAETTE |27/ = 2181 4 il 1,210 O
75| AKX HEAETE |27/ = 2181 3 il 321 O
16| AKX HENETE |2/ = 2181 9 pil 1,545 O
TT| AKX HEAETTE |27/ = 2181 | 16 il 2,672 O
18| AKX HENETE |27/ = 2179 | 52 4 246 O
T9|ABE XK HEAETTE |27/ = 2179 | 54 il 5,682 O
80| AR XK HEAETE |27/ = 2179 | 57 il 661 O
81|ABE KT HEAETGE |[LEib/E 2086 3 il 2,884 O
82| ABE KT HEAETGE |[LEib/E 2086 5 il 380 O
83| AKX HEAETHRE |(LEib/ R 2086 8 il 6,429 O
84| ABB KT HEAEGE |[LEib/E 2086 9 il 68 O




85| ABE KT HENEHE |EFEB/E| 2144 | 2 il 750 O
86| ARk HEAEHE |EFESB/E| 2144 | 3 il 728 O
87| Ak HEXNETHE |EFEH/E| 2144 | 4 il 1,147 O
88| ARk HEXNEHE |EFEZB/E| 2157 il 911 O
S IN HENEGE | EFR/E| 2161 3 il 382 O
90| ARBKTH HEAEHE |EFEZB/E| 2168 | 2 il 2,540 O
91| Ak HEXNEHE |TFERZB/E| 2139 1 il 350 O
92| ARk HEAEFHE |TFTFRERZB/E| 2140 1 il 1,253 O
93| ARk HENERES R/ B 1307 | 20 il 648 O
94| ARk HENEFRES |7/ E 1310 | 4 il 434 O
95| AT HENERES R/ B 1310 | 5 il 2,812 O
96| ARk HENERES |7/ E 1307 | 24 il 444 O
97| ABEKTH HENERES R/ B 1307 | 26 il 1,649 O
98| ARk HENEFRES |7/ E 1307 | 8 il 265 O
99| BBk HENERES R/ B 1307 | 28 il 1,758 O
100| A BBk HENARE |FK 1253 1 il 943 O
101|ABBkH = AUETZE A4 | S 240 1 il 5,407 O
102| A XK HEAEGE |FKR 1219 | 39 JH 378 O
103| A8k HENEAIE |FHK 1219 | 49 il 665 O
104| A BBk MENAIARIE |FEHK 1219 | 41 il 534 O
105| A8k = AUETZE 4 A | A 2212 | 2 il 1,144 O
106| ABEKTH = AUETZE A A | A 2212 | 6 JH 670 O
107| A8k HENEZEAER|+ /T 384 1 8 2,463 X
108| ABBKTH MENAIZSAR|+ /5T 384 2 M 446 X
109| A BBk HENEZEAER|+ /5T 385 1 il 620 X
110| A BBk BIANErAE |LEAD 1298 | 3 il 868 O
111| A8k B+ AUETZE 4 B |1E R 349 1 8 486 X
112| A8k M AETZS A M |IER 350 1 M 1,372 X
113| A8k B+ AUETZE 4 B |1E R 351 1 8 1,643 X
114| A8k MBI A A AL 534 1 M 291 X
115| A8k HEABTZEAER| AN 534 2 &) 49 X
116| ABEKH R 3 AT 25 A | 42522 T 356 1 M 287 X
117| A8k FH = BT 25 A R | #2522 T 357 1 8 492 X
118| ABEkH = AUETZE A A | A 2211 2 il 360 O
119| A8k HENEAE |2&R 66 2 il 799 X
120| A8k HENARES |7/ E 1307 | 12 JH 246 O
121| A8k HENAHRES |R/E 1311 9 il 1,697 O
122| ABBkH HENAFRES |Br & 1303 1 il 1,114 O
123| A8k = AUETZE 4 A | A 2198 | 2 il 2,053 O
124| ABBKTH MENATARIE |FEHK 1219 | 46 il 1,133 O
125| A8k HENEHE |EFEH/E| 2140 | 3 il 1,078 O
126| ABBKH HEAETHE |EFEZB/E| 2144 | 5 il 2,158 O
127|ABBkH HENEFRE |EFRE/E| 2160 1 il 1,372 O
128| A BBk HEASE ML 169 1 M 537 X




129|ABE K HEAASE |[MET 169 2 il 323 X
130|ABEK HEAAZRER|/NER 2198 3 JH 930 O
131| A8k WERT E EA 997 5 1,337 X
132| A8k WEENT EA 998 H 2,353 X
133|ABEK WERT EA 1003 i 2,160 X
134|ABBKH WERSTEAR |VF7oH 1226 32 1,063 X
135|ABE K =HEE=E [mFH 1437 1 i 1,452 O
136|ABEKT EHETRE HT&E 464 H 2,744 X
B M o BT % H F F FEEEEEOEE
No. | RTINS ()| KF (ET%) 2 WHE | &EF| B |EE (n) [F=0%=x
1| RIIVERT BZ J1 2229 1 JH 173 X
2 | RJIPeHT B% JI1 ek 2232 JH 272 X
3| KRJIpeHT BZ J1 2235 JH 1,424 X
4 | KRJJpEmT BZ JI] i 2245 1 S 119 X
5 | KJJPeHT BZ FEAR 2253 2 JH 250 X
6 | KJJBEHT BZ TR 2255 JHH 358 X
7| RIIVERT =3 HA 2263 2 JH 197 X
8 | RIJUEHT =) L S 1773 1 JH 542 X
9 | RJIVEHT Sl T+t 2024 1 H 397 X
10 | KJJBERT sl T+t 2025 H 1, 167 X
11 | RJJEHT Sl T+t 2026 1 M 560 X
12 | RJJVERT A9 g 2594 10 i 166 X
13 | RIJVEHT A FRH 3826 H 356 O
14 | KJIGEmT SiES B = | 1134 2 il 1,038 X
15 | KRIJYEHT SR H Bl iz 969 JH 1,973 X
16 | KJJVEHT SiES M/ M= | 1317 1 pil 193 X
17 | RIJGEHT HES M/ M= 1318 1 JH 902 X
18 | KIJJBERT S = 1737 2 Dl 1, 550 X
19 | KRJJVEHT SHES = 1737 3 JH 3,320 X
20 | KJJpEmT HES SN 1752 1 M 635 X
21 | RJJvEHT SHES /NERH | 1927 1 JH 2, 181 X
22 | RJJYEHT HES /NERE | 1927 2 i 909 X
23 | RJJYeHT HES /NERH | 1927 3 JH 548 X
24 | RJIYeHT S H EE[d 1081 3 A 107 X
25 | RJJYeHT SR H AR 1112 2 JH 248 X
26 | KJIYcHT SR H Bl EE N 2095 &] 1,351 O
27 | RJJYeHT SR H A6 A2 2096 H 78 O
28 | RJIYcHT SR H e 2097 H 696 X
29 | RJJYeHT SR H A6 A2 2098 1 M 1, 446 X
30 | RIJvEHT A W = | 1676 D] 89 X
31 | RJJYeHT At W, = | 1693 JH 482 X
32 | RJIYeHT A W, = | 1698 1 A 1, 355 X
33 | RJJYeHT (L tiRm | 1764 | 11 JH 1,074 X
34 | RJIYeHT [LrFR kT 2225 1 86| 61 X
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